| Efficiency vs Dxy |
> 0.1
<

S : : : : : : : : :
.00+

£ e
e S A I || I S A A
D.07E
0 1.
vosE N
0.04--frmr 1SRN 41 S
0.03F{|-y 4+ I Tl ------

N
0.012—-

LQF

Ratio

S (R

StUGHRHGH A AR f
1 & "1::’::5::::!‘:::5:::::' -l -- ; -----
]l 1

_25-20-15-10 -5 0 5 10 15 20 25
TP dxy (cm)

] R e RN R SR rrrrs i F 6 tirw

—=— DQM_mKFii_TTbase
ffici —e— DQM_mKkFit_TT_retrainOIldFiles125_v2_prelimWP_b5iter
| Efficiency vs Dz | —— DOM_mkFit_TT_baseline_6iter

—+— DQM_mkFit_TT_RetrainV2_WP2_6iter
3 0.2 : : : :

7T VRS WS NRIS PSS S m—
N ; : : ; :
R S R S

L. ®

}
————————

| ——

e

10 20 30
TP dz (cm)

LI LILINL LI L U L L L

|
W
af=
|
N
o




	Contents
	Page 1


